X £ 4 F34[e]£ AXEXZFH A EFEXR
a2 —4 BEE DS RED /L
B { 2017.2.3~2.5
NTAVT N RE—2m
RE1#®®D AL DIESF 20— SF«7 L RS
ZALE 50 uL KBT PRODIGY 42
A4 (i) 24—k T4—bF  T4—F
1js,5 1js,5
25y—No| EHORE | Eome | TILC | BROBS WhEE | #rER | mEOK RESH | LLvoR
Z4—F 74—F =8 =8 (L)
01F 6 5 3 10 0 2 30 90 4500
02F 7 6 2 10 2 5 28 56 2800
03F 8 7 2 14 5 9 26 52 2600
04F 9 8 2 14 9 13 24 48 2400
05F 10 9 1 18 13 15 22 22 1100
06F 11 10 1 18 15 18 20 20 1000
07F 2 2 0 18 18 42
08F 2 2 0 18 42
09F 2 2 0 18
10F 2 2 0 18
11F
12F
13F
14F
15F
747 —F&i WREOBE  FAILDE(m) 288 14.4
IN=AE4N
L—rmiEE _YRTAL300 aAAUE Bba R RE
REE - 1=F 2=0PE 3=FHH 4=RBlL 5=K5 37
FAA)5 () J4—b
1js,5 1js,5
25Y—No| EHOEE | ttomE | TILC | BHOBS WhEE | #rER | mEow | BEOH Ak
Z4—h 74—F =8 =& (L)
01R 2 2 0 30 42 37
02R 11 10 2 18 37 31 20 40 2000
03R 10 9 1 18 31 29 22 22 1100
04R 9 8 1 14 29 27 24 24 1200
05R 8 7 1 14 27 25 26 26 1300
06R 7 6 1 14 25 23 28 28 1400
07R 5 4 1 10 23 22 32 32 1600
08R 4 3 1 10 22 20 34 34 1700
09R 2 2 3 10 20 16 37 111 5550
10R 2 2 0 10 16 0
11R 2 2 0 10 0
12R
13R
14R
15R
YNR—REG5 HEOHB  FAILOE(m) 317 15.85
I+7—F&IN—REE HREOB A/ FTAILDE(m) 605 30.25




FMEIL BARKAPHIANBRFHEXSE +—/—~vFE21—

W o+7—F (39)

TAT—KNRI4TTT7 %
RLTWET

I JIX—R (FAI)

YIN—=RF AT DHDIIT %
RLTWFET

i
4+7—F (1)

T+ T—FF LI T DHD
IYF7ZERLTWET

]
avER—Iay

TAT—ERUYN—ZRDA LYY
IYFZERLTHET

YIR—RINTTHk

THT—RA YL &Y~
FAUTRT EDIVTE
RLTLWET

BB B (Oqs—F)

60

50

2L

8L

14L

20
#w H

14R

8R

2R




F3EEAARKBARIRHEFEAR 2 ROYNKRE)

EIE (ul) ZE2~58 | E6~108 | E11~15%8| ZE16~20#% | H520~164% | H15~11% | H10~6% | H-~2#K
187.5 690 1100 1100 1100 1100 830 250
e =& 2080 24 | 20#: ZE5# [ 204%: Z£104%| 204%: £ 15#| 204k : 5 15%| 204k : 5 10%| 20#: 54 | 208 : H 24K
7.33 4.40 1.16 1.00 1.00 1.00 2.75 7.33
1400
1200
1000
=
-; 800
=
(|
'\": 600
24

400

200

1L 3L 5L

7L oL

11L

13L  15L

170 19L

= H

19R 17R 15R 13R 11R

QJ4+T7—FxA4IL

- DVACY & g

7R

9R

5R

3R 1R




